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(1) x+2y=3z [x] (2) 3a—x=2b [x]
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(3) —3n=8-y [y]
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(1) a-5b=3c [al (4) 2m—-n=4p [n]
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(2) 3y+x=—6 [x] (5) 8a—b=-3 [b]
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(3) 4x+y=5 [y] (6) —5x—y=12 [y]

(7) -ba=x-b [x]
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(8) —2n=—-p+m [m]
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(9) 3b=a—2c [a]
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(1) x+2y=3z [x]

*
X=-2y+3z

® X=—-2y+3z
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(2) 3a—-x=2b [x]

*
—Xx=-3a+2b
x=3a-2b
& x=3a-2b

(3) -3n=8-y [y]
*
8—y=-3n
-y=-3n-8
y=3n-8

= y=3n-8
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(1) a-5b=3c [a]

*
a=5b+3c

= a=5b+3c

(2) 3y+x=-6 [x]

*
X=-3y—6

% X=—3y—6

(3) 4x+y=5 [y]

*
y=—4x+5

% y=—4X+5
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4) 2m-n=4p [n]

*
-n=-2m+4p
n=2m-4p

3 n=2m-4p

(5) 8a—b=-3 [Db]
*
-b=-8a-3
b=8a+3

= b=8a+3

(6) —5x—y=12 [y]

*
—y=5x+12
y=-5x-12

=® y=-9x-12

(7) -ba=x-b [x]

*
Xx—b=-5a
Xx=-ba+b
% x=-5a+b

(8) —2n=—-p+m [m]
*

—p+m=-2n
m=-2n+p
% m=-2n+p

(9) 3b=a—2c [a]
*
a—-2c=3b
a=3b+2c

= a=3b+2c
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(1) 3x=12y [x]
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(2) 4mn=-12p [n]
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(3) —8b=16a-4 [y]
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(1) —4x=20y [x]
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(4) 2ab=-14c [b]
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(2) 6m=—-4n [m]

(6) Sh=v [S]

%
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(3) 12x=9y [x]

(6) 5mn=20 [m]

i
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(7) 4n=3m+8 [n]
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(8) —5y=—2x+7 [y]

%
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(9) 3b=—6a+15 [b]
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(1) 3x=12y [x]
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(2) 4mn=-12p [n]

(3) —8b=16a-4 [y]
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= x=4y = n=—-5 = b=—2a+—
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(1) -4x=20y [x] (4) 2ab=-14c [b] (M 4n=3m+8 [n]
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(2) 6m=-4n [m] (5) sh=v [S] (8) —by=-2x+7 [y]
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= m=--2n = 5= h B Y75
(3) 12x=9y [x] (6) 5mn=20 [m] (9) 3b=-6a+15 [b]
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1\I\Za _ Shb 1&]’]’]}‘1\1 _ 4\20\ l\&b - ZKa . 5\'\5\
MI M4 1&}\1 1S\n \8\1 \3\] \3\1
a:ib m:i b=-2a+5
4 n
% azib % [T]:i % b=-2a+5
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(1) 3x+4y=12 [y]
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(2) —6a=10b-8 [b]
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(1) 8a=2b-5

[a]
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(2) 3x+5y=21 [x]
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(3) 5—-4m+8n=0 [n]
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(4) 2n-6m=10 [m]
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(5) —4x+6=2y [y]

=
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(6) 6a+3b=—12 [b]
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(1) 3x+4y=12 [y]
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(2) —6a=10b-8 [b]
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4y =—3x+12 10b—8=—6a
1 3 10b=-6a+8
\4\y :—ﬂ‘*‘ \1\2 1 3 4
\4\1 4 \4\1 Nb = Ka + R
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(1) 8a=2b-5 [al] (4) 2n-6m=10 [m]
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8a=-2b+5 —-6m=-2n+10
1 1 6m=2n-10
\&a == \2\b +£ 1 1 5
8, 8, 8 Bm _ 21
ac_1ps8 B, B 8
4 8 1 5
m=—n-—
3 3
D __ 1.5 D 1.5
= a 7 b+ 8 = m 3 n 3
(2) 3x+5y=21 [x] (5) —4x+6=2y [y]
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3x=-5y+21 2y=—4x+6
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x:_%y+7 y:—2x+3
= x:—%y+7 % y=-2x+3
(3) 5-4m+8n=0 [n] (6) 6a+3b=—12 [b]
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8n=4m-5 3b=-6a-12
8n _4m 5 Sb__‘ka_ 12
h\1 \8\2 8 \3\1 \&1 \3\1
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(1) -3y=ax [x] @ V=murh [h] (3) 5a-8b=bc [c]
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(1) 9x=6y [y] (4) S=3ab [al] (7) 6m-8=9n [n]
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(2) 5a=-8b [b] (5) V=abc [b] (8) 3x+5=4y [y]
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(3) —-18n=-3m [m] 6) —2x=yz [y] (9) —6a+2c=3b [b]
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(1) —-3y=4x [x]
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(2) V=nr*h [h]

(3) 5a—-8h=6c [c]
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4x=-3y arth=V 6c=5a—-8b
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(1) 9x=6y [vy] (4) S=3ab [al] (7) 6m-8=9n [n]
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6y =9x 3ab=S 9In=6m-38
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—8a=5b abc=V 4y=3x+5
8a=—-5b "abk Vv My 3x .5
“&a __5b 1\5\&1 ac \4\1 4 4
8 8 b=V y=Sx4+2
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-3m=-18n yz =-2X 3b=-6a-+2c
| 3m:168n Y ax Sb__ “%a, 2c
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= m=6n = y= ZTX = b:—2a+%c




FADER(5)
GlRES RDOKXZE[ TADOXFIZDLTHEIT,
(1) 2(a+b)=c [al
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(2) 12=4(x-y) [y]

H

ROREL  INOXFIZOVTHRIT,

(1) 5(x+y)=z [x]
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(2) 6(a+b)=2c [a]
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3) 3(x-y)=z [y]
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(4) 15=3(a+b) [a]
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(8) -3(x—y)=4z [z]
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(6) 8=12(m-n) [n]
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(1) 2(a+b)=c [al

(2) 12=4(x-y) [y]

* *
2a+2b=c 4(x+y)=12
2a=-2b+c _4y— 4y __1\4\X 2
4x—4y=12 \4\ = \4\ + \4\
Ra_ %, ¢ —4y=4y—12 L
2, 7 2 4y =—4x+12 y=
— _ps C
a=-b+ 5
= a:—b+% = y=—X+3
ROREL  INOXFIZOVTHRIT,
(1) 5(x+y)=z [x] (4) 15=3(a+b) [a]
* *
5X+5y =1 3(a+b)=15
Ox=2-39y 3a+3b=15
‘X _z By 3a=-3b+15
5 5 % “&a . 1\fi\b N SN
x=%—y \3\1 \3\1 \8\1
a=-b+5
& x=-L—y = a=-b+5
5
(2) 6(a+b)=2c [a] (8) -3(x—y)=4z [z]
* *
6a+6b=2c 42273(X,y)
6a=2c—6b 47 =-3x+3y
1Ka = 1\2\0 - 1Kb 1X\Z :7_3)( +37y
B B, 8 %W, 4 4
_1 3 3
a=—_Cc-b —— O g4 9
3 Z=—F X+
% 1. D __3,,3
Z a= 3 c-b z z R
3) 3(x-y)=z [y] (6) 8=12(m-n) [n]
* *
3x-3y=z 12(m—n):8 1Mn 1Nm ZR
—3y=-3X+1 12m-12n=8 Y2, 12, 12,
1 1
3y  3x 7 —-12n=-12m+8 2
3y=3x- = -= n=m--<
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1 1
(1) Sziah [a] (2) S:?(a-l-b) [a]
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1 yy=— ab __
(1) +xy=—4 [y] (4) 8- [b]
(2 m=--ab [a] (6) y=-(x+2) [x]
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(3) Tmn=—6 [m] 6) a=-3(b-1) [b]
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_1
) 8_2 ah [a]

ah' _ 25
Wh

_ 28
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(2) s=
*

5 (a+b) [al
! (a+b)=s

2
a+b=2S
a=-b+2S

S a=%> % a=—b+2S
RORKE[  IROXFIZONTRIT,
1= ab __
(1) 3xy=—4 Ly] @ S==-2 [b]
* *
Xy =-12 ab=-8
Xy __12 ab__8
\X1 X \5\1 a
__12 __8
y==~ b a
P __12 D __8
= y= X = b a
1 1
(2) m=---ab [a] (5) y:F(x+z) [x]
* *
1 1
—5ab=m ab=-2m E(x+z):y
ah1 _ o X+2=6y
111 b X=6y—1z
__2m
=
% a__ZTm = X=6y—1z
1 3
(3) gng—G [m] (6) a=€(b—1) [b]
* *
mn=-18 3 _
mh' _ 18 5()=a 3b_5a, 8
S 3(b-1)=5a % 3y
1 18 3b-3=5a b=2 a+1
Mm=—— 3
n 3b=>5a+3
& m=—18 % b=2a+1
n 3
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